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a. How can bus-based multiprocessor system with snooping cache coherence be used to facilitate implementation of LL and SC commands. Draw a block diagram.
b. Show implementation of a lock (in assembly language) using LL and SC. 
c. When the lock is implemented using LL-SC pair, the number of bus transactions is reduced in comparison with the implementation that relies on Test&Set command.  Why? In your explanation, refer to the block diagram from part a).

2.

a) What are the differences between grid and cloud computing?
b) Describe the differences between Software as a Service, Platform as a Service and Infrastructure as a Service.

3. Describe a set of steps that need to be performed in case of a page fault in a virtualization implementation with shadow page tables.

